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BR5EH B Mr=s| BHiff | BE| €8 | & | €8 | ®WE | 4 ik
4H2H 1F3 B 200| 109 21,800 0 109 21,800
485H AF3 B 200 86| 17,200 0 86| 17,200
4F8H 1F3 B 200| 108 21,600 44| 85800 64| 125800

ZOyal)— Fx 150 19] 2,850 0 19 2850

48128 |4Fd B 200| 123| 24,600 99 19,800 24| 43800
48158  |4F3 B 200/ 106 21,200 43| 8,600 63| 12,600
JOyal)— xR 150 36| 5400 0 36| 5400

4198 |4F3 B 200| 132| 26,400 62| 12,400 70{ 14,000
48228 _ |4F3 B 200 85 17,000 47( 9,400 38| 7,600
4H268H |4F3 B 200 84| 16,800 0 84| 16,800
4H30H |4F3 B 200 91 18,200 37 7400 54| 10,800
&t 193,050 66,400 126,650
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m B rEs| Bffi | E | £ | KE | 2% | KE | 28 | #HE
A4F3d xR 200 26| 5,200 0 26| 5200
AF3 B 200 46| 9,200 0 46| 9,200
THAE RiE 300 39 11,700 20[ 6,000 19] 5,700
AF3 X 200 41] 8,200 0 41| 8,200
Joyal)— B 150 69 10,350 0 69 10,350
&t 221| 44,650 20[ 6,000 201| 38,650
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6838 Joyal— Fx 150 99| 14,850 57 8,550 42 6,300
6H4H RA A Fx 400 66| 26,400 0 66| 26,400
RABK Fx 600 53| 31,800 0 53| 31,800
6858 Joyal— Fx 150 80| 12,000 16 2,400 64| 9,600
6 H6H AAHKAER) IR 600 15 9,000 0 15 9,000
AAABER) R 400 19| 7,600 0 19 7,600
687H Joyal— Fx 150 68| 10,200 0 68| 10,200
RA A Fx 400 52| 20,800 0 52| 20,800
RABK Fx 600 53| 31,800 0 53| 31,800
64108 |FAavaly— Fx 150 76| 11,400 33| 4950 43 6,450
RA A Fx 400 59| 23,600 26| 10,400 33| 13,200
RABK Fx 600 42| 25200 42| 25200 0 0
64128 |Faval— Fx 150 25| 3,750 25 3,750 0 0
RA A Fx 400 58| 23,200 27| 10,800 31| 12,400
RABK Fx 600 33| 19,800 33| 19,800 0 0
64148 |Favaly— Fx 150 10 1,500 0 10 1,500
AL A Fx 400 50| 20,000 3 1,200 47| 18,800
RABK Fx 600 66| 39,600 64] 38400 2 1,200
68178 |RALAH Fx 400 43[ 17,200 2 800 41| 16,400
RABK Fx 600 93| 55,800 62| 37,200 31 18,600
6188 |RALAH Fx 400 35| 14,000 0 35| 14,000
RABK Fx 600 23| 13,800 0 23| 13,800
S=hTRER) R 200 32| 6,400 0 32 6,400
6198 |RAL A Fx 400 32| 12,800 10[ 4,000 22 8,800
RABK Fx 600 93| 55,800 71] 42,600 22| 13,200
64208 |RALAH Fx 400 18] 7,200 7 2,800 11 4,400
RABK Fx 600| 128 76,800 62| 37,200 66| 39,600
6218 |RA/AHH Fx 400 9 3,600 6 2,400 3 1,200
RABK Fx 600 68| 40,800 38| 22800 30| 18,000
S=hTRER) R 200 40| 8,000 40 8,000 0 0
68248 |S=kTHRER) R 200 50( 10,000 0 50( 10,000
64268 |RALAH Fx 400 18] 7,200 0 18 7,200
RABK Fx 600 32| 19,200 0 32| 19,200
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AL A Fx 400 78| 31,200 41| 16,400 37[ 14,800
RAAKX B 600 50( 30,000 50| 30,000 0 0
AAAKRER) RiE 600 34| 20,400 26| 15,600 8 4,800
AL Ahe Fx 400 81| 32400 68 27,200 13 5,200
RABK B 600| 143| 85800 121| 72,600 22| 13,200
AAHBER) RiE 400 1 400 0 1 400
&t 2,025| 881,300] 930 445050] 1095| 436,250
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7H1H AAAKXRER) R 600 55 33,000 48| 28,800 7 4,200
RA A Fx 400 62| 24,800 10[ 4,000 52| 20,800
RABK Fx 600 63| 37,800 53| 31,800 10 6,000
AAARER) R 400 45| 18,000 45| 18,000 0 0
7H2H RA A Fx 400 7 2800 2 800 5 2,000
RABK Fx 600 41| 24,600 27| 16,200 14| 8,400
7H3H TI9LI7 BoEC#h [ 200 68| 13,600 30 6,000 38 7,600
AAAKRER) R 600 24| 14,400 24| 14,400 0 0
RA A Fx 400 17| 6,800 14| 5600 3 1,200
RAHK Fx 600 16] 9,600 16 9,600 0 0
AAARER) R 400 27| 10,800 14 5,600 13 5,200
7H4H AAAKXER) R 600 42| 25,200 27| 16,200 15 9,000
AAABER) R 400 6| 2400 6 2,400 0 0
7H5H AAAKRER) R 600 28| 16,800 17| 10,200 11 6,600
AAARER) R 400 16| 6,400 10 4,000 6 2,400
7A8H AAHKAER) R 600 12| 7,200 0 12 7,200
AAABER) R 400 4] 1,600 0 4 1,600
7A9H AL A Fx 400 2 800 0 2 800
RAHK Fx 600 12| 7,200 0 12 7,200
7108 |RALAH Fx 400 24| 9,600 8 3,200 16 6,400
RABK Fx 600 60| 36,000 24| 14,400 36| 21,600
7AN11B  |RALAHH Fx 400 6] 2400 2 800 4 1,600
RABK Fx 600 51] 30,600 33| 19,800 18] 10,800
7A128  |RA4A$ Fx 400 22| 8,800 6 2,400 16 6,400
RABK Fx 600 74| 44,400 60| 36,000 14| 8,400
7A168  |RALAHH Fx 400 31] 12,400 24| 9,600 7 2,800
RABK Fx 600] 160 96,000 94| 56,400 66| 39,600
78258 |##kfaEE = 200 19| 3,800 0 19 3,800
78268 |##kfaEE = 200 30| 6,000 14 2,800 16 3,200
78298 |##kfaEE = 200 13| 2,600 7 1,400 6 1,200
78308 |##kfaEE = 200 7| 1,400 0 7 1,400
78318 |##kfaEE = 200 9] 1,800 4 800 5 1,000
&t 1,053 519,600] 619 321,200 434| 198,400
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8A1H HkfaEE = 200 8] 1,600 7 1,400 1 200
8H2H b= = 200 65 13,000 48 9,600 17 3,400
8A5H b= = 200 49 9,800 35 7,000 14 2,800
8H6H TFAE— EE 200 48| 9,600 0 48 9,600
HkfaEE = 200 17| 3,400 3 600 14 2,800

8H8H TFAE— EE 200[ 104| 20,800 47 9,400 57[ 11,400
b= = 200 35| 7,000 24 4,800 11 2,200

BEI0h e 450/ 150 67,500 77| 34,650 73] 32,850

8H9H TFAE— EE 200[  150| 30,000 65 13,000 85 17,000
HkfaEE = 200 90| 18,000 53| 10,600 37 7,400

Big BoE#h [ 300 49| 14,700 0 49 14,700

8A13H |FHK ) 400 22| 8,800 0 22 8,800
2K Rt 400 45 18,000 0 45 18,000

8A148  |FFHK ) 400 8| 3,200 0 8 3,200
2K Rt 400 10 4,000 0 10 4,000

8A15H |FHK ) 400 17] 6,800 0 17 6,800
2K Rt 400 8| 3,200 0 8 3,200

8A198  |®k%E ) 300 55 16,500 39 11,700 16 4,800
St Fx 200 8| 1,600 0 8 1,600

2K Rt 300 90[ 27,000 70[ 21,000 20 6,000

8H20H |#i#kfaEE = 200 25| 5,000 15 3,000 10 2,000
8H22H  |fk%E ) 300 135 40,500 63| 18,900 72| 21,600
FHRXEF) Rt 600 28| 16,800 0 28| 16,800

8H23H |S=k<k Fx 200 11 2200 0 11 2,200
FHRXEF) Rt 600 35| 21,000 0 35| 21,000

EF—x ByEC#h [ 300 61| 18,300 0 61[ 18,300

8H268H |S=k<hk Fx 200 13| 2,600 0 13 2,600
2K Rt 400 27 10,800 0 27| 10,800

8H278 |&K e 400 24| 9,600 0 24 9,600
8H28H |#i#kfaEE = 200 15 3,000 14 2,800 1 200
FHRXEF) Rt 500 75| 37,500 45 22,500 30/ 15,000

8A29H |#HHRXEF) e 500 15| 7,500 0 15 7,500
FHEHR Bt 400 53] 21,200 0 53] 21,200
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2K R 400 53| 21,200 53| 21,200 0 0
8H30H |S=h%h Fx 200 39| 7,800 0 39 7,800
H 1,637] 509,500] 658] 192,150[ 979 317,350
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9A2H HHR Rt 400 50( 20,000 0 50/ 20,000
9A3H S=hvhk Fx 200 70| 14,000 55| 11,000 15 3,000
FHEHR BB 4t 400 63| 25,200 35| 14,000 28] 11,200
9A4H FHR Rt 400 120 48,000 64| 25,600 56 22400
INERALH(K) Fx 200 14| 2800 13| 2,600 1 200
INERAH(F) Fx 100]  107| 10,700 71 7,100 36| 3,600
9AS5H S AVIARAYE | B EHR | 300 93| 27,900 37| 11,100 56| 16,800
FHEHR BB 4t 400 89| 35,600 62| 24,800 27| 10,800
9A6H b= = 200 19| 3,800 3 600 16 3,200
Sl S d Fx 200 37| 7400 27 5,400 10 2,000
hErTE Fx 200 16] 3,200 0 16 3,200
FHEHR BB 4t 400 80| 32,000 50| 20,000 30| 12,000
INERALH(K) Fx 200 15[ 3,000 10 2,000 5 1,000
INERAH(F) Fx 100  126] 12,600 19 1,900 107| 10,700
9A9H Sl S d Fx 200 41] 8,200 32| 6,400 9 1,800
hERE Fx 200 14| 2800 5 1,000 9 1,800
98108 |##kfaE& = 200 7[ 1,400 0 7 1,400
9A1IBA  |P¥A RNV | BYEHL| 300  113] 33,900 45 13,500 68| 20,400
b= E= 200 9] 1,800 8 1,600 1 200
9138 | ¥A IRAYR | B EH | 300 92| 27,600 40 12,000 52| 15,600
HkfaEE E= 200 41| 8,200 12 2,400 29 5,800
Sl S d Fx 200 60| 12,000 34| 6,800 26] 5200
hErTE HFx 200 10| 2,000 0 10 2,000
MR BB 4t 400| 223| 89200 110] 44,000{ 113| 45200
INERAAKE) | BFE 300 54| 16,200 47| 14,100 7l 2100
INERAA(HRE) | FE 200 16| 3,200 3 600 13 2600
9A17H |##kfaEE = 200 54| 10,800 19 3,800 35 7,000
Sl Sl HFx 200 35 7,000 0 35 7,000
hErTE HFx 200 6] 1,200 0 6 1,200
INERIAKRE) | HFE 300 30| 9,000 22| 6,600 8| 2400
INERAA(RE) | BFE 200 14| 2800 3 600 11 2,200
98208 |##kfaEE = 200 49| 9,800 20 4,000 29 5,800
S=hvk Fx 200 55| 11,000 30| 6,000 25| 5000
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hErTE &2 200 10/ 2,000 0 10 2,000

98248 |##KAEE EeE 200 38| 7,600 10 2,000 28 5,600
Sl S d &2 200 98| 19,600 50| 10,000 48| 9,600

fELTE B 200 4 800 0 4 800

9A25H |##KFAEE (A= 200 3 600 0 3 600
9A26H |##KAEE A3 200 1 200 1 200 0 0
HX RH 300 227| 68,100| 120| 36,000 107| 32,100

9H27H _[S=k¥t 5 200 57| 11,400 0 57| 11,400
pmERTE B 200 23[ 4,600 0 23 4,600

&t 2,283| 619,200 1,057] 297,700| 1226] 321,500
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10A18 |[#H#%faes = 200 43| 8,600 15 3,000 28 5,600
Sl S d Fx 200 72| 14,400 47| 9,400 25| 5000

FERTE Fx 200 7] 1,400 0 7 1,400

1028 |[#H#%fEs = 200 5| 1,000 0 5 1,000
1048 |[#H#%kfaEs = 200 20| 4,000 14 2,800 6 1,200
Sl S d Fx 200 85| 17,000 71] 14,200 14| 2800

10A78 |[#H#%faEs = 200 21] 4,200 11 2,200 10 2,000
10888 |[FZOwyay— Fx 150 6 900 0 6 900
b= = 200 12| 2,400 4 800 8 1,600

Sl S d Fx 200 122 24.400 37 7,400 85| 17,000

FERTE Fx 200 5| 1,000 0 5 1,000

1098 |[#H#%fiaESs = 200 6] 1,200 0 6 1,200
10108 [#H#%faEE = 200 25| 5,000 17 3,400 8 1,600
$EA BB R 500 50| 25,000 50/ 25,000 0 0

108118 |Foyay— Fx 150 28] 4,200 0 28| 4200
HkfaEE = 200 5/ 1,000 5 1,000 0 0

S=hTk Fx 200 90| 18,000 65| 13,000 25| 5,000

hERE Fx 200 6] 1,200 0 6 1,200

108158 |Foyal— Fx 150 48] 7,200 25| 3,750 23| 3450
b=l = 200 22| 4,400 15 3,000 7 1,400

Sl S d Fx 200 53] 10,600 30| 6,000 23| 4,600

hERE Fx 200 10[ 2,000 10 2000 0 0

10A16H [#H#%kfaES = 200 17| 3,400 12 2,400 5 1,000
EN) R4 400 54| 21,600 15 6,000 39| 15,600

12 A BB X 500|  120| 60,000 48 24,000 72| 36,000

10178 |[#H#%kfaE & = 200 6] 1,200 6 1,200 0 0
EN) R4 400 31] 12,400 11 4,400 20| 8,000

108188 |Foyal— Fx 150 51] 7,650 32| 4800 19 2850
Sl S d Fx 200 43| 8,600 41 8,200 2 400

hERE Fx 200 17] 3,400 0 17 3,400

ER) L35 400 30| 12,000 10 4,000 20| 8,000

108218 |[S=k<b Fx 200 50| 10,000 27| 5400 23| 4,600
hERE Fx 200 14| 2,800 0 14| 2800
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EN LY R 400 5| 2,000 0 5 2,000
108228 [Joyay— B 150 19| 2850 0 19 23850
S=kwbk 3 200 27| 5,400 0 27 5,400
fELTE Fx 200 1 200 0 1 200
108248 [Joyay— Hx 150 1 150 0 1 150
Sl S d 52 200 56| 11,200 0 56| 11,200
pmERTE Fx 200 7( 1,400 0 7 1,400
108258 |[FOyal— 3 150 5 750 5 750 0 0
Ik Y A== it 200 31] 6,200 27 5,400 4 800
S=kwbk B 200 35 7,000 35 7,000 0 0
pmERTE Fx 200 1 200 1 200 0 0
0y 5 150| 107/ 16,050 35| 5250 72| 10,800
10A28H [#i#%kfaEE (A3 200 19] 3,800 0 19 3,800
0y 5 150 140] 21,000 0| 140 21,000
108298 |[JOwal— 3 150 3 450 0 3 450
KMEE = 200 1] 2,200 0 11 2,200
Sl S d 5 200 14| 2,800 0 14| 2800
fmELTE 3 200 4 800 0 4 800
Ay f£x 200 12| 2,400 0 12| 2400
&t 1,672] 389,000] 721 175950 951| 213,050




11 A5 AERFERER

55, — iR+ BR5E| 35 B 8 BRFE(E )
=] i B MrEs| Bl | 2 | %8 = | £8 [HE| €8 &%

1MA1B | 7R3— EE 200 12| 2,400 0 12 2,400
b= = 200 7| 1,400 0 7 1,400

FEF#(1.5) ] 400 60[ 24,000 0 60/ 24,000

Sl S d S 200 24| 4,800 0 24| 4,800

hERTE S 200 8] 1,600 0 8 1,600

EE 363 ] 500 42| 21,000 0 42| 21,000

11A5H |[#H%faes = 200 17| 3,400 13 2,600 4 800
Sl S d S 200 40[ 8,000 33 6,600 7 1,400

hERTE 52 200 13| 2,600 0 13 2,600

Ay s 200 25| 5,000 20 4,000 5 1,000

1168 [F@yal— Fx 150 6 900 0 6 900
HkfaEE = 200 5 1,000 0 5 1,000

EXIN0) ] 500 33| 16,500 0 33| 16,500

11A78 | 7REZ— EE 200 26| 5200 11 2,200 15 3,000
HkfaEE = 200 5 1,000 4 800 1 200

avvs Fx 100/ 106| 10,600 26 2,600 80 8,000

11A8H [Joyay— Fx 150 18] 2,700 0 18 2,700
Sl S d S5 200 61] 12,200 41 8,200 20| 4,000

hERTE S 200 10 2,000 0 10 2,000

A0 Fx 150 155 23,250 52 7,800 103 15450

AR [Joyay— Fx 150 51] 7,650 27| 4,050 24| 3,600
TFARE— EE 200 18] 3,600 11 2,200 7 1,400
b= = 200 8] 1,600 6 1,200 2 400

Ay s 200 11 2,200 7 1,400 4 800

118128 |7REZ— EE 200 13| 2,600 2 400 11 2,200
b= = 200 8] 1,600 0 8 1,600

Sl S d S 200 53| 10,600 41 8,200 12 2,400

hERTE S 200 8] 1,600 0 8 1,600

Ay s 200 7] 1,400 1 200 6 1,200

A0y S 150 26| 3,900 0 26 3,900

118138 [Joyay— Fx 150 33| 4,950 0 33| 4,950
TFAE— EE 200 2 400 0 2 400

Ay it 200 4 800 0 4 800
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11A148 [J@yay— B 150 43| 6,450 33| 4,950 10 1,500
TFRAE— A= 200 6] 1,200 4 800 2 400

b Y A== = 200 6] 1,200 3 600 3 600

vy A= 200 5| 1,000 3 600 2 400

11A158 [ Aayal— Fx 150 94| 14,100 68/ 10,200 26 3,900
TFRAE— A= 200 7| 1,400 4 800 3 600

EFA1.5) R 400 55 22,000 0 55 22,000

HrME RiE 200 37] 7,400 0 37 7,400

Sl il e 200 36/ 7,200 0 36 7,200

fELTE Fx 200 7( 1,400 0 7 1,400

vy A= 200 6| 1,200 2 400 4 800

WoBRE R 200 50( 10,000 25 5,000 25 5,000

BEDE E i) 200 24| 4,800 12 2,400 12 2,400

BEE4LE R 200 60[ 12,000 25 5,000 35 7,000

11A18H (FAyal)— Fx 150 71[ 10,650 35 5,250 36 5,400
KREE = 200 1 200 0 1 200

THAE R 400 36| 14,400 0 36| 14,400

EXN0) R 500 102| 51,000 98| 49,000 4 2,000

=Tk 52 200 18] 3,600 0 18 3,600

pmELTE Fx 200 6] 1,200 0 6 1,200

Ay Y (A=3 200 10[ 2,000 3 600 7 1,400

118198 [Rkvo Y (A=3 200 5 1,000 0 5 1,000
118208 [J@yal— B 150 12| 1,800 0 12 1,800
TARZ— €S 200 8| 1,600 1 200 7 1,400

=Tk 52 200 17[ 3,400 0 17 3,400

pmELTE B 200 2 400 0 2 400

Ay Y (A=3 200 12| 2,400 3 600 9 1,800

11218 |[7RE— Y (A=3 200 3 600 0 3 600
Abvy Y (A=3 200 4 800 0 4 800

118228 (JAyal— B 150 25 3,750 0 25 3,750
FERA1.5) et 400 78| 31,200 0 78| 31,200

Abvy A= 200 9] 1,800 6 1,200 3 600

118258 (JAyal— B 150 26/ 3,900 0 26 3,900
T ARE— Y (A=3 200 4 800 0 4 800

ERA.5) R 400 2 800 0 2 800




55, — R A ERSE IS NB 8 BRFE(E )

HR5EH m B MirEs| Hifl | 82 | % H=E| £ ([BE| €8 &%
S=kwbk B 200 30[ 6,000 0 30 6,000
fELTE Fx 200 6] 1,200 0 6 1,200
Ry Y (A=3 200 3 600 0 3 600
118268 |E8(2) R 500 72| 36,000 0 72| 36,000
Ry (=3 200 3 600 0 3 600
118278 |Rkys Y (A=3 200 22| 4,400 16 3,200 6 1,200
HERL e 300[ 143 42,900 34| 10200| 109 32,700
118288 [FH4E R 400 55| 22,000 23 9,200 32| 12,800
Ry (A3 200 2 400 2 400 0 0
118298 [(Joyaly— Hx 150 16| 2,400 0 16 2,400
S=kwbk B 200 37| 7400 0 37 7,400
fhELTE Fx 200 9 1,800 0 9 1,800
Abvy £ 200 20| 4,000 9 1,800 11 2,200
&t 2,220 550,800| 704| 164,850| 1516] 385,950
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1282H | Rky2 s 200 13 2,600 8 1,600 5 1,000

453 B 300 18| 5,400 0 18 5,400
12838 [Joyay— Fx 150 16] 2,400 0 16 2,400
Abyy it 200 2 400 2 400 0 0
12H4H |EHfh i 300 57| 17,100 0 57| 17,100
Joyal— Fx 150 22| 3,300 0 22 3,300
Ay s 200 5| 1,000 0 5 1,000
12A58  [hETH Fx 200 3 600 0 3 600
S=hTh Fx 200 50| 10,000 29 5,800 21 4,200
Abyy it 200 38 7,600 38 7,600 0 0
12868 [Joyay— Fx 150 24| 3,600 0 24 3,600
AF3 B 300 29| 8,700 0 29 8,700
12898 [Foyay— Fx 150 11| 1,650 0 11 1,650
THAE R 400 56| 22,400 22 8,800 34| 13,600
Ay s 200 27| 5,400 14 2,800 13 2,600
A4F3 Fx 300 25| 7,500 0 25 7,500
128108 [JOoyay— Fx 150 15 2250 0 15 2,250
A - EE 200 20( 4,000 8 1,600 12 2,400
Ay s 200 7] 1,400 5 1,000 2 400
12A11H (W3 (L HER) ] 150 75 11,250 39 5,850 36 5,400
128128 _|RIFY-oIR R 600 30[ 18,000 30] 18,000 0 0
Abyy it 200 10[ 2,000 0 10 2,000
128138 [E3=k=hk Fx 200 53| 10,600 0 53| 10,600
Joyal)— Fx 150 4 600 0 4 600
453 B 300 51| 15,300 0 51| 15,300
12168 |EHfh i 300 38| 11,400 0 38| 11,400
Hr¥ Fx 200 61[ 12,200 0 61| 12200
RIFY-oIR R 600 57| 34,200 0 57| 34,200
Ay s 200 18] 3,600 17 3,400 1 200
A4F3 B 300 44 13,200 0 44| 13,200
128178 |7\ RE> EE 200 4 800 0 4 800
Abyy = 200 3 600 0 3 600
128188 | Rkv2 s 200 5| 1,000 0 5 1,000
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128198 |=IEBA R 300 123| 36,900 32 9,600 91| 27,300
TEHHER ESE 200 60[ 12,000 30 6,000 30 6,000
(% H i) e 150 26| 3,900 16 2,400 10 1,500
=k 5 200 10[ 2,000 0 10 2,000
Zayal)— B 150 28| 4,200 0 28 4,200
NREY £ 200 18] 3,600 8 1,600 10 2,000
Ay Y (A=3 200 13| 2,600 8 1,600 5 1,000
128208 |WF(ZHER) e 150 16| 2,400 0 16 2,400
NREY £ 200 4 800 0 4 800
Ay Y (A=3 200 10[ 2,000 5 1,000 5 1,000
A4F3d 5 300 40 12,000 0 40 12,000
128230 |LEV R 300[ 123| 36,900 39[ 11,700 84| 25200
Joyaly— B 150 1] 1,650 0 11 1,650
NREY £ 200 14| 2,800 0 14| 2800
Abvy £ 200 33| 6,600 14 2800 19 3,800
A4F3d 5 300 37] 11,100 0 37| 11,100
TFRE— £ 200 19] 3,800 0 19 3,800
1282480 [LEV e 300 7 2100 1 300 6 1,800
NREY (A3 200 9] 1,800 1 200 8 1,600
Abvy A= 200 13| 2,600 13 2,600 0 0
128268 [/\{RE> £ 200 3 600 0 3 600
RAbvy Y (A=3 200 27| 5,400 0 27 5,400
122780 [ Ayal)— 3 150 5 750 0 5 750
Abvy £ 200 19] 3,800 0 19 3,800
A4F3d 52 300 49| 14,700 0 49 14,700
TFRE— £ 200 13| 2,600 0 13 2,600
&t 1,621] 421,650] 452] 96,650 1169] 325,000




1 AR BRERFTEAR

55, — iR+ BR5E| 35 B 8 BRFE(E )
=] i B MrEs| Bl | 2 | %8 = | £8 [HE| €8 &%

1H6H Abvy = 200 9] 1,800 0 9 1,800
AF3 B 300] 121 36,300 0 121 36,300

1878 Joyal)— Fx 150 21| 3,150 0 21 3,150
Abyy it 200 3 600 0 3 600

TFAE— EE 200 10| 2,000 0 10 2,000

1A9H Ay s 200 5| 1,000 0 5 1,000
FAE— EE 200 8| 1,600 0 8 1,600

18108 |RkyY it 200 3 600 0 3 600
453 B 300 89| 26,700 0 89| 26,700

18148 |RkyY = 200 16] 3,200 16 3,200 0 0
avvs Fx 100/ 181| 18,100 75 7,500 106/ 10,600

AF3 B 300 70| 21,000 44 13,200 26 7,800

18158 |7 REZ— EE 200 15| 3,000 2 400 13 2,600
18168 |[FOoyay— Fx 150 7| 1,050 0 7 1,050
Abyy it 200 21] 4,200 20| 4,000 1 200

TFARE— EE 200 8| 1,600 7 1,400 1 200

18178 |4F3 Fx 300 74| 22,200 43| 12,900 31 9,300
18208 |RkyY = 200 17| 3,400 13 2,600 4 800
avvs Fx 100/  153| 15300 65 6,500 88 8,800

A4F3 B 300 89| 26,700 43[ 12,900 46| 13,800

TFARE— EE 200 15| 3,000 12 2,400 3 600

18230 |B®FX Fx 200 83| 16,600 30 6,000 53| 10,600
Joyal)— Fx 150 27| 4,050 0 27 4,050

TFAE— EE 200 19| 3,800 11 2,200 8 1,600

18248 |RkyY it 200 19| 3,800 19 3,800 0 0
453 B 300] 108| 32400 45 13,500 63| 18,900

18278  [Foyay— Fx 150 29| 4350 0 29 4,350
Ay s 200 18] 3,600 7 1,400 11 2,200

ayF Fx 100 137| 13,700 52 5,200 85 8,500

A4F3 B 300 42 12,600 0 42| 12,600

1288 [BRFGER) Fx 300 97 29,100 61| 18,300 36/ 10,800
1298 [BRFGERL) Fx 300 86| 25,800 11 3,300 75| 22,500
avvs Fx 100[  130] 13,000 54 5,400 76 7,600




55, — R A ERSE IS NB 8 BRFE(E )

HR5EH m B MirEs| Hifl | 82 | % H=E| £ ([BE| €8 &%
AF3 B 300 24 7,200 0 24 7,200
18308 [F@vyal— B 150 12| 1,800 0 12 1,800
vy A= 200 6| 1,200 4 800 2 400
18318 |Rkys (=3 200 24| 4,800 21 4,200 3 600
A4F3d 52 300 70| 21,000 54| 16,200 16| 4,800
H 1,866] 395300] 709 147,300 1157| 248,000




2 A5 AERSENER

35, —#&E I ERTE

1SS BRE(ESD)

fR5E H i B MrEs| B %5 | £% K= | €8 ($=| 28 E&

2A3H Abyy (=3 200 12| 2,400 11 2,200 1 200
avvs HFx 100  144| 14,400 46 4,600 98 9,800

A4F3 e 300 38| 11,400 0 38| 11,400

2848 Joyal)— HFx 150 30[ 4,500 0 30 4,500
2H7H Abvo iA=3 200 19| 3,800 14 2,800 5 1,000
A4F3 e 300 81| 24,300 31 9,300 50| 15,000

2108 |RbkyH (=3 200 9[ 1,800 0 9 1,800
A4F3 e 300 83| 24,900 0 83| 24,900

2A13H  |BRFERHD) Fx 300 72| 21,600 32 9,600 40[ 12,000
Abyy s 200 13[ 2,600 11 2,200 2 400

2A148  |Foyal— HFx 150 9] 1,350 0 9 1,350
A4F3 &2 300 118 35,400 54| 16,200 64 19,200

28178 |RkyH (=3 200 15[ 3,000 12 2,400 3 600
A4F3 &2 300 115| 34,500 46| 13,800 69] 20,700

2A188  |7@wyal)— Fx 150 22| 3,300 0 22 3,300
Abyy (=3 200 4 800 0 4 800

2A208  |RkyH (=3 200 12| 2,400 0 12 2,400
2218 |4Fd X 300 106 31,800 56| 16,800 50[ 15,000
2A258  |RkvH (=3 200 2 400 0 2 400
A4F3 e 300| 124 37,200 62| 18,600 62| 18,600

28268  |Favay— Fx 150 34| 5100 0 34 5,100
Abyy (=3 200 11] 2,200 11 2,200 0 0

2278 |4Fd X 300 13| 3,900 0 13 3,900
2A288 |RkvH (=3 200 22| 4,400 22 4,400 0 0
A4F3 e 300| 128| 38,400 72| 21,600 56| 16,800

&t 1,236] 315850| 480 126,700 756] 189,150




3 A ERERFERER

55, — iR 1 BRSE| $H B 8 BRFE(E S

=] i B MrEs| Bl | 2 | %8 (= | £8 ([HE| €% &%
3H3H Joyal)— Fx 150/ 106 15,900 53 7,950 53 7,950
453 B 300] 152 45,600 55| 16,500 97| 29,100
3A6H Joyal— Fx 150 22| 3,300 0 22 3,300
Abyy it 200 33| 6,600 0 33 6,600
AF3 B 300 8| 2400 0 8 2,400
3A7H A4F3 Fx 300/ 128| 38,400 70[ 21,000 58] 17,400
3A10H  |BxRFHR{) Fx 300 43| 12,900 20 6,000 23 6,900
Joyal)— Fx 150 13| 1,950 0 13 1,950
RIFY-IR R 600 37[ 22200 0 37| 22200
453 B 300] 130 39,000 66| 19,800 64| 19,200
3A11H  |BxRFER{H) Fx 300| 111] 33,300 34| 10,200 77| 23,100
RIFY-oIR R 600 18] 10,800 17] 10,200 1 600
Abyy it 200 24| 4,800 0 24| 4,800
3A12H  |BxRFHR{) Fx 300 20[ 6,000 20 6,000 0 0
RIFY-IR R 600 15 9,000 15 9,000 0 0
3A13H | FHR{D) Fx 300 40( 12,000 27 8,100 13 3,900
Joyal— Fx 150 39| 5850 30| 4500 9 1,350
3A148  |RbkyY = 200 11] 2,200 11 2,200 0 0
453 B 300] 159 47,700 76| 22,800 83| 24,900
3A178  |Favay— Fx 150 11| 1,650 0 11 1,650
A4F3 B 300 96| 28,800 61| 18,300 35| 10,500
3A198  |YHME RiIE 200 26| 5200 0 26 5,200
3A21H |Fowval— Fx 150 4 600 0 4 600
A4F3 B 300 89| 26,700 71 21,300 18 5,400
3248  |RkyY it 200 7] 1,400 7 1,400 0 0
A4F3 B 300] 150| 45,000 66| 19,800 84| 25200
&t 1,492| 429,250]  699] 205,050 793 224200




